Math 229
Differentiation Worksheet Name:

06,/09,/2008

1. Let f(z) =5+ 3z — 42

(a) Find the slope of the tangent line to the graph of f at (x, f(x)).

(b) Find the slope of the tangent line to the graph of f at (3, —22).

(¢) Find the slope of the tangent line to the graph of f at the point(s) with y-coordinate -5.

(d) Find the point(s) on the graph of f at which the slope of the tangent line is 35.

(e) Find the equation of the tangent line to the graph of f at the point whose z-coordinate is 1.

(f) Find the equation of the tangent line to the graph of f at the point whose z-coordinate is —2.



2. Find the derivative of each of the following functions.

(a) f(z) =22° —4a® + 223 + 152% — 3z + 10

(b) f(z) =42 — ma® + 732 — V2

(¢) f(z)=2m

(e) f(x)=(@"+2°+a2® +z+1)(z - 1)

Simplify your answers completely.

© f() = 5

Nl

(h) f(z) = (2% —32)(7 -z

() f(@) = (42® — bz +17)"

k) f(z) = (32% = 5)7 (2 + 5z — 7)1°



